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เกิน X 

เกิน X 

OK ! 

  

หน้า 20  ข้อ 14  ตอบ  7.5 V 

 E   I(R r)= +            r (1)→  

 E 0.05(148 r) (1)= +      E 0.05(148 2)= +  

 E 0.03(248 r) (2)= +    E 7.5 V=    *  

(1) (2) ; 5(148 r)= +  3(248 r)= +  

   740 5r+   744 3r= +  
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     r 2=  
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หน้า 22  ข้อ 18  ตอบ  1 A 
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หน้า 23  ข้อ 20  ตอบ  1 

 

 

 

 

 

 

  E  IR=   

 oop 1 ; 15 10−   1 2(1 1)I 1 I= + −  

   5  1 22 I I (1)= −  

 oop 2 ; 10 5−   1 21 I (1 1)I= − + +  

   5  1 2I 2 I (2)= − +  

 (2) 2 ;   10   1 22 I 4 I (3)= − +  

 (1) (3) ; 15+  2 23 I I 5 A= → =  

 แทน (1) ; 5   1 12 I 5 I 5 A= − → =  

 กระแสไหลผ่าน 2 1 2E I I 0 A *= − =  
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